PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016

9th August 2016, 12:00 PM
Topic:- General and Logical Knowledge

1)
Question Stimulus :-

Who wrote the famous drama like Abhigyanam Shakuntalam, Kumarasambhavam and Raghuvamsam? /ﬁv_\‘:lef

SRR AMpererd, PARTRITH 3R IYGHT 9 7RI Tes o &2
* Kalidasa / PTG
* Tulidas / JEAEIGRT
® Kabir / HAR
® Kumara Vysasa / PHIX AT
Correct Answer :-Kalidasa / BTG
2)
Question Stimulus :-

Grown only at Alirajpur in Madhya Pradesh, what is Noor Jahan a variety of? / Fad GIFﬂTI\_rIE'\" P AT H
ST araT, R et feae fewr g?

® Orange / JRT
® Apple/ a9
® Mango / 3{TH

° Grapes/Gi"]R'
Correct Answer :-Mango / 3H
3)
Question Stimulus :-

P is 5th from the left and Q the 6" from the !'ight. When they interchange their positions, P is the 13th from the left. What is
Q’s position from the right? / P STS 31 ¥ UiaT Td Q &T% 3R 4 Dol ¢ | 916 3 307 T S0 & §gerd o, al P TS
AR A GG T8 | T8 IR Y Q BT RTTIM g2

® 4th

()



® 8th

® 14th

® 15th
Correct Answer :-14th
4)
Question Stimulus :-

Mohit introduces Mohan as the son of the only brother of his father's wife. How is Mohan related to Mohit? / n‘r%'cr ﬁ

Hig- o1 uNad IHS a1 St Ueit  FHalld HTS & o9 P FTH AT JigH, Hifed 9 fra yoR dafta 82
* Son/del
® Uncle/ 3{®d
® Brother/ HTS
® Cousin / AHRT TS
Correct Answer :-Cousin / HHRT HTS
5)

Question Stimulus :-

Chanderi shares its borders with: / T:!%'\Pf 3‘I'|3F'ﬁ ?ﬂTITGﬁ ﬁ diedr % :
® Malwa and Bundelkhand / TSl 3R w
 Gwalior and Malwa / TTferaR 3fiR HTeraT
® Ujjain and Sanchi / 3= 3fR It
e Bundelkand and Sanchi / YOGS 3% Tt

Correct Answer :-Malwa and Bundelkhand / ATl iR W

6)
Question Stimulus :-

Shakti walks 20 m towards North. He then turns left and walks 40 m. He then moves 20 m after turning to the right.
How far is Shakti from the starting point? /Ezﬂ%rwa% Gﬁ? 20 Iﬁ?ﬁﬁﬂ%l agﬁwamasm%aﬁv g0 #Y Iardr
81 9% fip g1 g & a1g 20 | Teran 31 vfaa wRiY® fig A fpam R @2

e 10m /10 #t

©)



e 20m /20 Ht
e 30m/30Ht
® 60m /60 Ht

Correct Answer :-60m / 60 Ht

7)
Question Stimulus :-

How many languages are there in the 8t Schedule of the Constitution of India? / MR TfAUTT BT s} Glﬂ'{l\_tﬂ
# fopat HTTE &2

® 16

° 22

® 15

e 18
Correct Answer :-22
8)

Question Stimulus :-

Which of the following dams is NOT on Narmada river? / m i § ﬁ ﬁq 1 T'Iﬂ?{[ qﬁ L'CY q'eﬁ %?
® TIndira-Sagar Dam / SfeRT TR a9y
® Maheshwar Hydel Power Dam / TR YAfaoIel 9y
e Sardar Sarobar Dam / TIRGR TRIER T
® Koyna Power Project / PIGT ﬁg!rcr LIEOIEEI
Correct Answer :-Koyna Power Project / SIa-T ﬁgq?r LIEOIEEI
9)
Question Stimulus :-

Athakamba and Bajramath temples are located in ./ STYTHHT 3R T9/HS Hiew T R '%.I
® Gyaraspur / TqIRYYY
® Khajuraho / WTEﬁ'

(4)



® Hatta /BT
® Raneh/ Tﬁ?

Correct Answer :-Gyaraspur / TRIAYR

10)
Question Stimulus :-

Rajawada palace is locatedin . /ISId[STHgdl o fRua g1
® Indore/ Ea?
* Gwalior / TTIRIR
e Ujjain /=i
® Ratlam / YddlH

Correct Answer :-Indore / SER

11)
Question Stimulus :-

Assam is famous for this dance form / 3H T T Qeit & m Rrs %:
® Garba / TRdAI
® Jhumar / SHY
e Bihu / 9§
* Dandiya / SifSdl

Correct Answer :-Bihu / f9g

12)
Question Stimulus :-

R K Laxman was a famous / 3R & G&HUI U Ul:
® Writer / ﬁw%
e Painter / RAGR §
® Architect / ARGPIR &

(5)



® Cartoonist / EFIi:ITFR' g

Correct Answer :-Cartoonist / PIgTPIR &

13)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 9§ fowe 'f[ﬁ'q
Sil 3T 7T Sy} Td frepuf & av § I 2

Statements: / $Y:

All books are tables. / 9} fhard 29 71

No Table is a chair. / @15 t A% $f 71 21
Conclusions: / fwpd:

I. All tables are books. / ¥t &% f¥am §1

I1. No book is a chair / &I ¥t forama oif 7t 21

® Only conclusion I follows / Sad f~rswY 1 fererdr g
® Only conclusion Il foIIows/WﬁWﬁf i Ferperar %
® Both conclusion l and Il foIIows/?ﬁ:ﬁ feed 1 3k 11 e %

« None of the conclusion I or II follows / Aepd I I1 I1 & & &5 81
Mreaar g

Correct Answer :-0Only conclusion Il follows / Fad e | Freaar %

14)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg IEEgR

R, ab sl R AT R W FyT & 9= 2 -

If Meeta is clever but not lazy then she can achieve the target. / gfe diar areTe % afpT et
Tl ? < 98 J&d I FR Tl 3

® |f Meeta is not clever but not lazy then she can achieve the target. / ‘.T% Har 9rere T'Iﬁ % dAfep 3ITedt T'I'E"pf
& 1 95 18T TR BT ehell ¢

® If Meeta is clever but not lazy then she cannot achieve the target. / ‘TI% Hrar arare % Afep et H'E'ﬂ % a
I8 98T IRT 18! B Thell gl

(6)



 If Meeta cannot achieve then she is clever as well as lazy. / df¢ a1

&I RT T8l B APl g, <l 98 ATeTd & Y-y et W 21

® |f Meeta cannot achieve then either she is not clever or lazy. /tl'%'l:ﬂ_cﬂ &I R qﬁﬂ"_{ gdbdl %, argrar dg
TTAT A & U1 et 81 21

Correct Answer :-if Meeta cannot achieve then either she is not clever or lazy. / Tf¢; T¥dT &I R Tl B

Hopdl B, a1 91 ) 98 AreiTe 8} & T 3iTerel A8 g

15)

Question Stimulus :-

In the following sequence, how many letters are followed by a number and then a symbol?

/ F argepu #, fhaq oeR T € S 91 U T=AT U9 39& 916 UH Wdlld 8?2

Y4&L>2G7WATZ*K6S7TH6S$SE&(R13N5@5+?QI*3P9?#5YH% 7

Correct Answer :-4

16)
Question Stimulus :-

Sarkaria Commission was concerned with / TX®TINAT ST BT _&? ATY Y AT
® Judicial Reforms / <ITRI® U
® Electoral Reforms / JTd JYUIR
® Centre-State relations / $&-31og At
® Financial Reforms / faxfta ﬁm

Correct Answer :-Centre-State relations / $vG-ITog o eif

17)
Question Stimulus :-

Which ruler of the Delhi Sultanate was a slave of Mohammad Ghori? / %ﬁﬂ Hod-d BT b 9T ATHS mm
R} BT qary 412

(7)



* Qutbuddin Aibak / PTG QqD

* Muhammad bin Tughluq / §gWIG fo=1 gUa®

e Balban / dddd

* Razia Sultan / ITAT Feard
Correct Answer :-Qutbuddin Aibak / PIIg I CadH
18)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 719 Uy ¥, 1gd o) uei & 9 5 R @ $18 W9y g1 Ay e § 9 5t ug gFa
T TR ug & T1Y I THR &1 I

PSQ: RUQ:: GHI:?
® KL
® 1K
e 1l
® KMO
Correct Answer :-li
19)

Question Stimulus :-

Five friends Sohail, Sujit, Srijan, Samarth and Suresh study in the same class. It is known
that : Sohail is shorter than Sujit and taller than Suresh. Samarth is shorter than Sujit and
taller than Sohail. Srijan is the tallest among all the friends. Who among the friends is the

shortest? / UM GRd Tigd, Jgoid, Joid, TUY 3R G T & Feam ¥ ued &1 98 Ja ¢ &: Tied goia
@@ﬁa%eﬁvﬁ%ﬂﬁwélwﬁgﬁﬂaﬁiﬁaéaﬁvﬁéﬁﬁwélwmaﬁwﬁwﬁw%l
SRl # TR Bler I 82

e Sohail / Tigd

® Suresh / W

* Sujit / Jeid

® Samarth / Tudf

(8)



Correct Answer :-Sujit / Jeiid

20)
Question Stimulus :-

How many times ‘E’ exceeds 'S’ in the word ‘WITNESS’? / ‘WITNESS’ ¥ # ‘E’ fHad @
s’ ¥ Aftw 82

LA |

e 0
Correct Answer :-1
21)

Question Stimulus :-

How many Indian Prime Ministers were born in independent India? / ¥d~d HIRd ¥ foraq wemwiaT | o
e

* Two /33[

® Three /<
® Six/ 9%

® One/UdH

Correct Answer :-One / Th

22)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawen
gfe, St ad #1 =} A 7R R Te FY= & JuE B :

If it is 5:00 pm, then I will go home / ¢ T F 5:00 T g, dl # TR ST
® Ifitis not 5:00 pm, then | will not go home / Tf& TH & 5:00 TE Tt &, Y A TR &) ST
e If I go home, then it is 5:00 pm / ﬂﬁﬁﬂ'\'ﬂm, dl TMH & 5:00 E@f%
® | will not go home, then it is not 5:00 pm / & TR T8 SIS, oY TMTH & 5:00 Tel a9 &

©)



® None of the above /B'CR-']?E[ ﬁﬁéqﬁ
Correct Answer :-l will not go home, then it is not 5:00 pm / 'a.‘ZR'T'lﬁGiIG"II, T =TMH & 5:00 ﬂﬁa@r%
23)

Question Stimulus :-

Gir forest is in which State? / iR a9 feg 3w A %’?

® Maharashtra / HEIRTY

® Gujarat / T[SRTd

* Punjab / USITd

® Haryana / B'FQ'CITUIT
Correct Answer :-Gujarat / ToRRTd
24)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
gfhe, it b @1 = TR R e sy F 99 ©

If you pay the fee, then you can enter the class / af¢ 30 Y[eh THT H, <f 3T HET & <L o

® If you don’t pay the fee, then you cannot enter the class / Tlﬁ' 3 Wﬂiﬁ STHT aﬁﬁ, ar 3y DEIT * 3
T o g@d §

® [f you cannot enter the class, then you didn’t pay the fee / e TT Hed %m qﬁ\_ﬂ m%, GIECILE]
Yo el o1 fpuT @

® If you can enter the class, then you have paid the fee / 'qﬁ ST B ET ® g SIT m%, ar arruﬁ%g«—q»"am
fearg

® None of the above /GTR:IW aﬁs“ﬂ'é’r

Correct Answer :-If you cannot enter the class, then you didn’t pay the fee / gfe 3y Hed * mqﬁ'ﬁﬂ
THd &, Y AT b a1 oraT fpan g

25)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fdwe ﬂﬁ'E
Sil 3T 7T HyAT wd el F av § T R

(10)



Statements: / BYH:

All coins are balls / I Rigp 7 &
All balls are bats / I 7¢ 9cat @
Conclusions: / e

I. All bats are coins/ I g Riaes %
II. All balls are coins / I ﬂ% Rias %
® Only conclusion | follows / Wﬁwmf I fFradan %
® Only conclusion Il follows / Wﬁfﬁiﬁ'ﬁf n fFereedar %
® Both conclusion | and Il follows /Eﬂ:ﬁ foreed 1 Gﬁ? II Fpad %

® None of the conclusion l or I follows/ﬁwﬁf ITGIIH A ﬁé q'eﬁ fraar %
Correct Answer :-None of the conclusion I or Il follows / fF5pd I a1 1T # & Tﬁg T8I fpear &

26)

Question Stimulus :-

X + Y means X is mother of Y
X - Y means X is brother of Y
X x Y means X is daughter of Y

X = Y means X is uncle of Y

If A + B = C + D, then which of the following is true:

/
X+YRTIFEX, YBIATS

X-YFTHTEX, YRTUE £
XxYBTAFETX, YBI I

X=YPIIFEX, Y PT3PA &

geA+BC+D dfRgAIAFT I T &:

(11)



® Cisbrotherof B/ C, B ®T HIS &

] BissonofA/B,AEFlaET%

® Aisfatherof C/ A, C P fUaT 8

° CisnieceofD/C,Daﬁ‘l-l'iTrﬁ%
Correct Answer :-Bissonof A/ B, A PTdCT &
27)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, .
share a common similarity while one is different. Choose the odd one out. / g uy ﬁ,

FO Vel & I9e fed M §, o 9ft, Faa T o1 DisHr, U € wafe T e 2| fauw ara #)
|

e RTV
e 0QS
* FDB

e TVX

Correct Answer :-FDB

28)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe qﬁq
St faT T Sy Td et $ R # 99l 2

Statements: / ®YH:

All cameras are tools / HﬁWW%

All tools are garments / Tt IUHROT I &
Conclusions: / e

I. All cameras are garments / gl IR I %

II. All garments are cameras / It = %FR’%
® Only conclusion I follows / Sad f=rewY 1 fRrperdr g
® Only conclusion Il follows / »ad e || FApadar %

(12)



® Both conclusion land I follows/atﬁ ﬁwﬁf I GﬁT II foad %

« None of the conclusion I or II follows / Aepd I I1 11 § A ®I5 &)
Arpear g

Correct Answer :-Only conclusion | follows / Fad ey 1 Aeadr %
29)

Question Stimulus :-

There are two words making the base pair. Find the similar pair of words from the

following / & XTeq 3MYR W 511 %6 & | 9 ¥ ¥ TUH Weal &1 g 7id Siford
Cholera : Water / 89T : Ul ::

® Poison : Death /SIgX : g
®* Rat: Plague / TgT: WRT
e Malaria : Mosquito / HARATl : AR
® Epidemic : Bacteria /'FIE'ITﬂﬁ . ST
Correct Answer :-Malaria : Mosquito / #afR¥dm : A%

30)
Question Stimulus :-

Manas Wildlife Sanctuary is located in which state of India? / HFH TS HIRTY HRd &
o w0 o fRua 72

® Assam / 3[{H

® Meghalaya /ﬂ"amu

® Manipur /'Flﬁ'l'g?

® Arunachal Pradesh / WU&QT

Correct Answer :-Assam/ 3dH

31)

Question Stimulus :-

Which of these was NOT built by Shah Jahan? / Frafef@a & o1 zresel grr fffa a8 frar mar ur?
® Red Fort / GIGREZSI

(13)



® Taj Mahal / dTol Hgd

 Jama Masjid / SITHT Hi%IG

* Qutb Minar / $GIHMAR
Correct Answer :-Qutb Minar / $gIHIAR
32)

Question Stimulus :-

Who is the first player to score centuries on debut in Ranji Trophy, Duleep Trophy and Irani Trophy? / JUTSh

SIY, gelld ST ofR ST ¢TIt o Ugel #d1 § Jad a1+ aTel Ugdl [aars! i o2
e Sunil Gavaskar / g el TMAEDH
® Sachin Tendulkar / I dga®HR
® Irfan Pathan / 3XWIT USTH

® YVirender Sehwag / éﬁ_ﬁ'w
Correct Answer :-Sachin Tendulkar / TR dga®
33)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / 93 IGEa
g, it aF o1 2P | 1 e T vy & 9uE 7

It is not true that both kamal and vimal are athletes / 98 9« 72l @ f& ®aa 3R fdwa =1 &t
TYeiie &

Kamal is an athlete and vimal is an athlete / H U TYTIIC & 3T foHel U TUeiic @

e Kamalis an athlete and vimal is not an athlete / H TP TYEHE § R fawa us vyl 7l &
® Kamal is an athlete or vimal is an athlete/ PH Udh Qzﬁ'ﬂ? % g7 faua Uh 'QQE'ﬂE' %
None of the above/ m aﬁ% =I€f

Correct Answer :-Kamal is an athlete or vimal is an athlete/ U TH TYTAIC g 1 fawa TP TYaile g

34)

Question Stimulus :-

(14)



Which of these Mughal emperors discouraged music and placed a ban upon it? / g1 Wm A foaa

T I ATaae fHaT 3R 39 W uredt o &i?

Babur / dTd¥

Shah Jahan / RITg \_IIBT
Aurangzeb / A

Genghis Khan / T @

Correct Answer :-

35)
Question Stimulus :-
A person is asked to put in a basket one apple when ordered one, one guava when ordered

Two, one orange when ordered Three and is asked to take out from the basket one apple
and one guava both when ordered Four. The order sequence executed by the person is as
follows; / : U fad P TP 2Bl H Uh A9 SMA & foIT Bl SIIdl @ oid U AT 341 741, TP 3%g
o GERT TSR 4T 741, TP HeRT SF THRRT STe=T o T SR SH! il ¥ U@ 19 3R TS 3H%E
Rem & $81 TaT ST AT TSR T ATl MW & I H TS wafe gR1 Aunfed 39 UK §;

1233214231422331411323

How many fruits will be there in the basket at the end of the above order sequence? / W

¥ AT & 3IHH F 3id W Sy H fbaw wa g2
° 1
e 1
* 12
e 13
Correct Answer :-13
36)

Question Stimulus :-

If the figure on left is folded to form a cube, then which of the following options is the face opposite to the face shown

at the right? / ¢ TTAY 3R W 3MTHTT B T B 7T 1 & ¢ wics fpar smar 3, it Fufieai d S o9
A faweu & as grff ok fear M waw & faudta 82

(15)



ey

Correct Answer :-

37)
Question Stimulus :-

Pointing to a lady, Dinesh said, 'She is the daughter of the woman who is the mother of the
husband of my mother’. How is the lady related to Dinesh? / U® Hfgal $1 3R SR Hd §Y,
fa=r 7 wgT, 9 S ufeer 1 91 8, < U3 uf & ufd St ur gl

Sister / dg+

Mother / 'FI'T

Aunt / 3T

Daughter / &t
Correct Answer :-Aunt/ g3l
38)

Question Stimulus :-

The Governor of a state shall be appointed by - / ISdUTd &1 5% gRT g f&ar 9@ @ -

® Prime Minister / WTHAT
(16)



® Chief Minister / T&THAT

* President/?Tngﬁf
® Home Minister / "ETI'?F[

Correct Answer :-President / TT¥Uld

39)
Question Stimulus :-

In 1930, who became the first Asian to win the Nobel Prize for Physics? / 1930 ﬁ, P9 Hifast & ﬁl’[{ GIC]
WREPR Sitd ard Ugol TREATS 9497

Amartya Sen / M A9

Salman Rushdie / HdHTH WT:(P[

C.V. Raman / It dt. 3\or

® V. Ramakrishnan / Cif RTHPWT
Correct Answer :-C.V. Raman / . df. IHU
40)

Question Stimulus :-

Who was referred to as the ‘Bhishma Pitamah’ of Indian politics by Manmohan Singh? / 'FFI'Fﬁ?:f ﬁ'-l%'ﬁ' YR

et & vy e @ w5 g & <&
® Mahatma Gandhi / HeTHT e
® Atal Bihari Vajpayee / 3[Cd forerst areruedt
e Rahul Gandhi / ITgd TTeN
* Himself / T 3T TUDT

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, =T 4@ A TP US TAd €| TAd U §Id dIvA| 1,5,9,16,25,36,49

(17)



* 49
* 16

Correct Answer :-5

2)
Question Stimulus :-

In a certain code ‘Heavy fish boat’is written as ' Gena mena fena’; ' Star
gold fish’ is written as 'mena kena tena’ and ‘A bright star’ is written as
dema fenta kena’ . In that code the word for 'gold’ is: / {53l W HIs A, ‘Heavy
fish boat’ ®) ' Gena mena fena’ d for@n 8 ; ' Star gold fish’ 31 'mena kena tena’ &
ferar g 3R "4 bright star’ @ ‘dema fenta kena’ ¥ forar %l 34l PIs | ‘gold’% foe

T 5

® dema

® fenta

® mena

® tena
Correct Answer :-tena
3)
Question Stimulus :-

If BALL is coded as DCNN, how is GOAL coded? / af¢ BALL & DCNN ¥ ®Ifgd forar sirar g, @l
GOAL Pl &3 ®ifed far srar 82

e IPCN

e IQCN

e ICQO

e IQCH
Correct Answer :-IQCN
4)

(18)



Question Stimulus :-

In the sequence shown below, which figure comes next? / - fTGr ™ %0 ¥ 3Tl
3Tpfa P A grft?

= E =

=
=

1T

=

=

Correct Answer :-

5)
Question Stimulus :-

Dinesh types 75 pages in 14 hours. How many pages can he type in 20 hours? / ﬁﬁ'ﬂ 14 W3 # 75 U CIgq ddl %
98 20 Ul # fFaq T TSY HR IHhdl 87

e 107 1/7 pages
® 113 2/9 pages
® 116} pages

(19)



e 127 1/7 pages
Correct Answer :-107 1/7 pages
6)

Question Stimulus :-

Chander has spent Rs. 348 on travel to city A from city B by bus. If he had Rs. 754 with him how much money will he
have left if he returns from city B to city A in the same way and does not spend on anything else? / UG AR A

XMEY B 99 I I Hd 5T 348 = T o | afe 3% U 754 & g4, df 39F U fhad +ud 79 g
gfe g8 I IR A WET B W e A Tlear 3R Gl fredt Fiw w @ T8 Hear

®* Rs.36
® Rs.58
®* Rs.74
®* Rs. 116

Correct Answer :-Rs.58

7)
Question Stimulus :-

The details of the appointment order Kamal received are as under: / ®Hd gGRT UItd

Frgfea emexr &1 faavur 59 W &:
Letter No. BHEL:HO/P&A/Trichy/517:Conf Asst/627 dated 22 Jul 2007
Which of the following exactly matches those details? / R EaE EUf 9 ¥ 3 faazor @ a7 @rar 82

® Letter No. BHEL:HO/P&A/Trichy/517:Conf Asst/627 dated 22 Jul 2007

® Letter No. BEL:HO/P&A/Tirchy/517:Conf Asst/627 dated 22 Jul 2007

® Letter No. BHEL:HO/P&A/Tiruchy/517:Conf Asst/617 dated 22 Jun 2007
® Letter No. BEHL:HO/PSA/Trichy/517:Conf Asst/627 dated 22 Jun 2007

Correct Answer :-Letter No. BHEL:HO/P&A/Trichy/517:Conf Asst/627 dated 22 Jul 2007

8)
Question Stimulus :-
Complete the series choosing the missing number: / fdgw W@ &R SEGaT1 Bt R

PHIfoTT :

(20)



1,3,6,10,15,_
* 19
* 20
° 21
e 22
Correct Answer :-21
9)

Question Stimulus :-

If BOOK is coded as CPPL, how is PEN coded? / af¢ BOOK &I CPPL & ®IfSd farar wrar 8, o PEN &1
I wifsa fHar sirar 82

® STN
* QFO
e STU
e QCB
Correct Answer :-QFO

10)
Question Stimulus :-

In the sequence shown below, which figure comes next? / #R fe@r 1d w9 o snTeht
rpfa e W grfiz

A G 3

(21)



i
b

Question Stimulus :-

Correct Answer :-

11)

35% of is 140. / BT 35% © 140]
. 225
* 300
o 400
e 315

Correct Answer :-400

12)
Question Stimulus :-

In a certain code language 'Have sweetl dreams’ is written as 'eva sota doma’ and 'Sugar
is sweet’ is written as ' dugre ona doma’. In that code Ianguaé_;eY the word for 'sweet’ is: /
foradl @ Pis | ﬁ, 'Have sweet dreams’ &\ ‘eva sota doma’ ‘Sugar is sweet’ Cal ‘dugre

ona doma’ A forar 2| St B8 I | 'sweet’ & o TS 2:

® eva
® gsota
® ona

® doma

(22)



Correct Answer :-doma

13)
Question Stimulus :-

Harish sells a book for Rs. 25 and gains 25%. What is the cost price at which he purchased the book? / Fﬂ'EZT 25 & H Udh

foara ST 8 3R 25% T UTT 3| ARTd $1Hd T § O R IEA fae o @der
® Rs.20
* Rs.25
* Rs.30
* Rs.50

Correct Answer :-Rs. 20

14)
Question Stimulus :-

9-8x2+9="?

* 18

e 25

°* 2
Correct Answer :-2
15)

Question Stimulus :-

In a certain code language 'God is great’ is written as ' sela soja se’ and 'Oh my god’ is

written as ' Ke soka soja’ . In that code language the word for 'God’ is: / f&¥t W™ HIg YT

H, 'God is great’ 3\ * sela soja se’ 3R 'Oh my god’ &1 ' Ke soka soja’ ¥ for@r | I & o A
'‘God’ & ﬁﬂl{ Teq %:

® sela
® soka

® soja

(23)



® ke
Correct Answer :-soja
16)

Question Stimulus :-

Complete the series choosing the missing letter/s: / faﬂtﬂ' 3I&R DR dQdl G| =T PITT : wxy _z

Xy _Z_X_yIw

® xwyza

® yzwxa

® ZwWywx

® zayxz
Correct Answer :-zwywx
17)

Question Stimulus :-

If 820+x+y-610=342 and x=84 then y=? / afe 820+x+y-610=342 3R x=84 y=?
° 84
e 58
e 38
* 48
Correct Answer :-48

18)
Question Stimulus :-

There are 42 students in a class. In an exam if one out of every 6 students fails, how many pass? / Tdh HEl 42 3 %|

TS e ¥ IS TR 6 BEI F | TH Sl gran g, ol fobam Sivl g1 32
¢ 12
¢ 18

e 21

(24)



e 30
Correct Answer :-30

19)

Question Stimulus :-

Nalini’s passport number is F4780087, Voter’s ID number is HYV44705928 and PANCARD number ABSFW0643N,
and. Check which of the following is the same as these. / Afert ST U I=T F4780087, HdqIdl Ugdld U
HYV44705928 Td U PTS FWIT ABSFW0643N €| Sird &3 f g & @ &9 59 a9 H 8|

® F4780807, HY V44075928, ABSFW0643N
® 4780087, HYV47405928, ABSFW0634N
® T4780078, HY V44705928, ABSFW0643M
* F4780087, HY V44705928, ABSFW0643N

Correct Answer :-F4780087, HY V44705928, ABSFW0643N

20)
Question Stimulus :-

Complete the series choosing the missing number: / i%@?r ST AP daell B T DI :

2,4,8,14,22,
° 32
e 38
e 48
e 56
Correct Answer :-32

21)

Question Stimulus :-

Suman gives Rs.500 to her son Ramesh, and asks him to pay the grocer Rs.263 and the vegetable seller Rs.149. How

many rupees are left with Ramesh? / gHT 3T+ d¢ W B 500 Fa_l‘ﬁ%, aﬁ?aﬁwﬁﬁ 263 Féﬁﬁ
PEdl § T Joeildgd a1d Bl 149 F | WY & U fhad A 79 &2

®* Rs.168

® Rs.153

(25)



* Rs.114

® Rs.88

Correct Answer :-Rs.88

22)
Question Stimulus :-

Yukta gets Rs.350 to buy fruits and vegetables from her mother. If she buys fruits worth Rs. 148 how much
money is spent on buying vegetables if she returns Rs. 42 to her mother? / Yl B Bd Gﬁ? '\‘l'%l'q}f @ﬂﬂﬁ ¥ ford
o=l UTaT | 350% e §| Uit 98 148%F F FIHd F R Ba Wl 8, o Alwral @e F fba-t af
w9 g 9fS 9% SIuh AN BT 423 wier 3t &2

® Rs.160
® Rs.178
® Rs.196
® Rs.202
Correct Answer :-Rs.160

23)

Question Stimulus :-

I bargained with the fruit vendor and brought down the price by 20%. Thus I got 5 more oranges for Rs. 80. What
was the price the vendor had originally quoted for an orange? / A Th el faohar I Rara s qeq PI 20%
S HIAMI| 3T YHR A 5 Ha¥ 80 Iudl H U frd| war fashar g1 Ik ot Ruifa wRte gea 7 &2

® Rs. 16
® Rs. 3.20
®* Rs. 4
® Rs. 4.80
Correct Answer :-Rs. 4

24)
Question Stimulus :-

The number nearest to 99547 exactly divisible by 687 is: / 99547 ¥ fFpedqu J=rm it 687 @ TJf U
fawrsa g :

(26)



* 100166
e 908928
® 99479
* 99615

Correct Answer :-99615

25)

Question Stimulus :-

The monthly electricity bill at my home is Rs. 360. The price of electricity goes up by 20%. How much would the bill
for the next month be? / TR TR ¥ faorell &7 fael 360 o WiRki® 71 fAielt T Y0 20% | HUR I¢1 o€ 21
TR He M ¥ fe fasaem gk

e 20

® 432

° 72

® 288
Correct Answer :-432
26)

Question Stimulus :-

What will 15 men earn in 6 days, if 12 men earn Rs. 840 in 7 days? / gfg 12 smeHt 7 fRAi A 840 &=

FUTA &, @ 6 fai ¥ 15 3mef fva=m AT
®* Rs. 880
® Rs. 900
® Rs. 940
® Rs. 970

Correct Answer :-Rs. 900

27)

Question Stimulus :-

(27)



Complete the series choosing the missing letter/s: / fAqW &R TTH HTaAT Bl [T BIMT :
oonmn _ omm _ nooo _ m __

® nmnn
® nnnm
® nmmn

® nmno

Correct Answer :-nmnn

28)
Question Stimulus :-

A shopkeeper offers a discount of Rs. 15. The price is now 80%. How much was the

marked price? / % GPTGR 15 UGl $ Fe BT 3B 3T 8] 3T Ted 80% ¢ 3ifpd wea fFarh Az
® Rs. 120
* Rs. 60
® Rs.75
* Rs. 90

Correct Answer :-Rs. 75

29)
Question Stimulus :-

The mirror images of four words are shown below. Three of them can be made

from the letters in the word CREAM, but one cannot be. Which one? / IR I &

g&wuﬁﬁa:ﬁ%ﬁqﬂqﬁ 30 A dF, g *CREAM’ & (&Rl ¥ ST o Ihd &, W TP 81| a8 B
?

[RACE
CARE
NEAR
CANE

(28)



NEAR
Correct Answer :-

30)
Question Stimulus :-

The price of tea is Rs. 150 per kg. Last year it was Rs 120. The increase is ... %. / dTI P! BT 150 Fo Ul

forat 8] fod af $iud 120 ®o H| IFE TS 8 e % |
* 20
* 40
* 25
* 30
Correct Answer :-25

Topic:- Science and Simple Arithmetic

1)
Question Stimulus :-

is an example of a unisexual flower. / Wﬁ'ﬂﬂ oI & 3qleXul %I
® Papaya / qdtar
® Mustard / I3l
® Rose / Tdd
® Tomato / CHICY
Correct Answer :-Papaya / 9Utdl
2)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / iR U 70 IR vy & forw
= R T T 7 &1 sremga B3 iR sl 1 W S| (W F T srgwi=a geal R fmar #¥)

(29)
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- 107
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g st T
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5
= 2000 -
2
5 1000 -
0 . . : .
80 51 52 53 54
Year

What was the % depreciation in sales of product Y during 1992 t01993? / 1992 ¥ 1993 & a?'F-l 3IdTG X B fawt |
% SIA&Id T dI?

® 47%

* 13%

* 11%

* 12%
Correct Answer :-13%
3)
Question Stimulus :-

Short wires of same thickness & same material in a musical instrument produce sounds of/ﬁ)_\‘ﬂ arel 99 § 9HHE

Hrers iR w9 uard & g 9 eafrai I B &
® High frequency than long wires /Fi'a IRk LGGEL A 3= @quﬁr 3|
® Low frequency than long wires / GCEGIRIRC LGB d \?rI'IQﬁ'T G|

(30)



® High pitch than long wires / @S @RI @1 a1 § & ARG $i

® Low pitch than long wires / @d dRI & ga-T # 5 aRe ot
Correct Answer :-High frequency than long wires / @d dRI @ ga-T § 3 3Mgfd Ht
4)

Question Stimulus :-

The organism that does not have a blood circulatory system is /9% St forad ES R RS EIRIIGE] q’é}

T 8

* Earthworm / $g3M

e Cockroach / fareazr

* Hydra /8BTSl

* Frog / de®
Correct Answer :-Hydra / BIgS!
5)

Question Stimulus :-

Two numbers are in the ratio of 3: 4 and the product of their L.C.M and H.C.F is 10800. The sum of the numbers is: / |

T@TE 3: 4 F U | & 3k 39% L.C.M 3R H.C.F T UHHH 10800 1 IBI13MT BT AT &
* 210
* 180
* 240
* 225

Correct Answer :-210

6)
Question Stimulus :-

In dispersion of light, the most refracted colour is / UBTRT F YPIuiA ﬁ', Tad 3fYe sruafad 3T ﬁ?ﬂ %
® red /WA

° blue/T'ﬂ?lT

(31)



® violet/ ST
® green /BRI

Correct Answer :-violet / ST+t

7)

Question Stimulus :-

If 6x+10y=58 and x+y=8, the value of x & y are / If¢ 6x+10y=58 3R x+y=8, x 3R y & AH

e 55, 25

e 52

e 1,0

¢ None of these / 39H ¥ ®I5 A8l
Correct Answer :-5.5, 2.5

8)

Question Stimulus :-

Which numbers are in order from largest to smallest? / PIT A RILEILY a‘%‘ A B HHH %:?

* 56, 65,25, 52
* 56,52,25,65
®* 65,56,52,25
® 65,52, 56,25
Correct Answer :-65, 56, 52, 25
9)
Question Stimulus :-

The rate of breathing in an adult human being at rest is

PRE
® 72-75times/minute / 91X/ fire

® 15-18times/minute / d1X/ fire

(32)
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® 42-45 times /minute / IR /f¥AE
® 21-24 times /minute /?SI'R/ﬁF'IE
Correct Answer :-15-18times/minute / IR /fe

10)

Question Stimulus :-

Which of the following options is true? / 9 # 9 B a1 e I8 82

Correct Answer ;-2 & —%e¢ =1

11)
Question Stimulus :-

A tumbler of ordinary glass cracks when hot water is poured into it This happens because / JTHIRUT i BT s

a9 g ST 8 5g S9H T Ul STar ST 81 98 S giaT 8 ®iife
® Linear expansion of glass is more / HTd DI IWY U9 3AfYw %
® Linear expansion of glass is less / &g BT IQY TR $H %
® Glass does not expand on heating / T 'Eﬁﬁ R Hid YR qﬁ a?ﬁ
® Glass contracts very quickly / BTd dgd TVIT'QFT Wﬁlﬁ E?f SIGLH %

Correct Answer :-Linear expansion of glass is more / ®Td BT IGY TR 3ifY® @

12)
Question Stimulus :-

Consider the table given below which shows the production of different kinds of cars from 2002 to 2007: / ar= EFT Tli

IR W foaR S/ St 2002 ¥ 2007 9% fAfHT UpR &1 Myl &1 Sared feardt @

(33)



Cars P Q R 5 T u
2002 26 20 14 60 40 45
2003 34 22 22 62 45 52
2004 40 25 16 67.5 48 55
2005 35 23 23 75 a0 &0
2006 37.5 19.5 29 76 80 57.5
2007 40 18 35 80 105 56

In which year was the production of cars of kind P and S taken together equal to the production of cars of kind T and U

taken together? / B ¥ 9 # T1Y H & 71E p 3R s YR oI MG BT IeuTe, 1Y H o T3 UHR T 3R
U B TEET & T P IR SHM?

® 2002

® 2004

® 2005

® 2007
Correct Answer :-2005
13)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / AR U /@ IR w4 & forw
ez R T T 71 &1 sremga B3 iR sl F1 I S| (SWI F e srgwi=a gedl R fmar a¥)

(34)



120 -

112
- 107
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Year
000 -
+ 5000 - 288 5250
4
K 4000 | o ——+T850
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5
= 2000 -
2
5 1000 -
0 . . : .
50 51 52 53 54
Year

What was the % growth in sale of product Y during 1990 to 1994? / 1990 ¥ 1994 & ?a?'F-r 3IdqG Y 9 bt # %
faowra T U

e 9%
* 4%
e 32%
® 52%
Correct Answer :-32%

14)
Question Stimulus :-

The freezer in a refrigerator is placed at the top so as to ensure / Th IpoRer # WieR &I MY W e \H&Iﬂ:ﬁf
XA P forg v wiren 7 %

® it looks beautiful / g ﬁﬂ? ﬁ@'

® cool air remains at the top / ad qarg o w T%
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® jtis easier to handle/%ﬁ HUHTEAT ST %’

® continuous cooling takes place /ﬁ?'_cl'\’ aadr 941 ?%
Correct Answer :-continuous cooling takes place /ﬁ'\i_d? aadr a1 ?%
15)

Question Stimulus :-
Find the area of the square ABCD with vertices A (-1, -1),B (-1, 1), C (1, -1)
and D (1, 1) / 9 ABCD &T &3%d [Herfere s aﬁwﬁg%(1 -1), B (-1, 1), C (1,
-1) 3R D (1, 1)

® 4sSquare units / 4 T THTS

® 2 Square units / 2 T TP

® 16 Square units / 16 T SPTS

® 8 Square units / 8 T SPTS
Correct Answer :-4 Square units / 4 & SPTS
16)

Question Stimulus :-

The activity that replenishes nutrients in the soil is / a8 ifafafer il Hal ¥ Uiye dal oI fihr 9 qﬁf
T ol ®

® Ploughing / ST

® Levelling / JHd T

® Weeding /él?l'&; HIHAT

® Crop rotation / I 3T

Correct Answer :-Crop rotation / I 3T

17)
Question Stimulus :-

If the mitochondria stops functioning in a cell, which cellular process is directly affected? / ?TI% HIRPT A WET
BT BT TG PR ¢, a1 I A HIRSTT ufspar uwe Tu F gutfaa gtz

® Protein synthesis /tﬁ?ﬁq HReIyor

(36)



e Photosynthesis / U HXAYUT

® Aerobic respiration /aTﬂTrﬁa:‘[ qa4q
® Secretion / Hld
Correct Answer :-Aerobic respiration/a'l'gTrﬁa 494

18)

Question Stimulus :-

S.1 unit of angular displacement is / PIoig fomurgT ®t W\'ﬂ'l'&c Wlé %
» radians/sec / fsg/dwvs

e rad/sec? / ga/dwvs 2
e radian / s@=
e rad/ sec3 / Ywi/Iwvs 3

Correct Answer :-radian / fggq
19)

Question Stimulus :-

fa+b:b+c:c+a=6:7:8anda +b + c = 14, then the value of cis: /ﬂﬁ."a+b:b+c:c+a=6:7:8\?rﬁ'\’a+b+c=
14, @Y ¢ @1 A &

° 14
Correct Answer :-6
20)

Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / 1 fat T ar i & faw
Az R RE T 7w &1 sremga B iR i BT IW S (W F e srgait geat iR IR w¥)

(37)



112
- 107
g 100 MM
E a0 7k
=
g 80
o
5 40
2
2 20 -
wa
0
50 81 L, 53 o4
Year
000 -
+ 5000 - 288 5250
4
K 4000 | o ——+T850
g st T
S 3000 -
5
= 2000 -
2
5 1000 -
0
50 51 52 53 54
Year

What was the % growth in sale of product X during 1990 to 1994? / 1990 T 1994 & aTF-I 3IdTe X &I Al 7 %
fawra T U

* 50%

® 35%

® 75%

* 89%
Correct Answer :-50%
21)

Question Stimulus :-

When there is a tyre puncture, air escapes through the punctured area & the tyre deflates. This is because / SId Tdh

ufgaT deR B SIGT €, 99 84T YR &9 & gRT a1} FHod aredt § ok ufyar @fea g wirar 81 9% gafau
giaT § wife

® Fluids move from a region of high pressure to a region of low pressure / <d¥d TETQf 3o qld <°;‘]'5I J IBL] ald
& P 3R WIFiaid 8d §

(38)



® Fluids move from a region of low pressure to a region of high pressure / <d¥d¢l tlaTﬁf g qld &h Jq 3= old
& Pt 3R WA gla &

® Air pressure inside the tyre increases / Tl%t{ ® 3GY BT qryg qld d¢ STdT %
® Air pressure outside the tyre increases / tl'[%'({ * qTe} I d1y qId de SITdl %

Correct Answer :-Fluids move from a region of high pressure to a region of low pressure / A¥d tl'q’[?f 3o qld

& @ 79 919 &7 #t Sk Rl gid €

22)
Question Stimulus :-

In the given figure, AB, CD and EF are parallel to another. Find x / a"rnﬁ Gﬂ?ﬁfﬁ, AB, CD 3R
EF THiaR 81 x

A‘SD
E £

® 105

® 115
e 25
Correct Answer :-105

23)
Question Stimulus :-

Penguins have black feathers on their back with tiny air spaces. This helps to / ﬂgs? @t s W g dig 3Rl &
ATY BT TF B ¥ 1 g TGE PRa &

® Maximize the loss of body heat by radiation / fafe~or grT 3R @t THT 1 AT SiftrpaH B |
® Helps to release trapped air / Wt 3_5: CIE CATUtEE HeRIdl i

® Minimize the loss of body heat by radiation /ﬁ'ﬁv_\"UT BIRT IR B T @Y wt gAdH A

® Maximize the loss of body heat by conduction / T¢I GIRT IR ot T B HH IfFaH FA T

(39)



Correct Answer :-Minimize the loss of body heat by radiation /ﬁm GRT IR DY THT Bt Ht G GE
B |

24)

Question Stimulus :-

A small piece of sugar cane stem with a few nodes is planted in the soil, what will happen to it? / T & T4 BT BieT

T qhST O Ml & Iy gar § Afua forar et 8, 3/ a1 g

® The stem gets swollen / dHT & SITdT %

® No change occurs / Eﬁ’&‘ ufad= qﬁ E.TTIT

® The stem undergoes decomposition / dHT 3rqgfed %ﬁ'rrr

® The stem sprouts and produces new shoots / AT Glfﬁ_d EﬁTIT 3R =|€ Uﬁ_s' IUT BT
Correct Answer :-The stem sprouts and produces new shoots / T &@R?r 3-17” 3R =r€ uﬁ‘s IAA B
25)

Question Stimulus :-

If the perimeter of a rectangle of length 3 cm is 10 cm, find the breadth of the rectangle. / af¢ 3 Tt et
P TP TG BT URHATT 10 I €, o 3a B S Fpierd|

® 7cm

® 2cm

® Scm

® 3cm
Correct Answer :-2 cm
26)

Question Stimulus :-

A rubber ball is pressed. The force applied is / T IdX &I ﬁﬂ' G| CRIRIRSIGH %l Ugdd dcf %

® Balanced force /ﬂ'_g[[%lﬁ Ch
® Unbalanced force / GF\‘I@'I%‘I?T 9d

® Frictional force /'El'leUT Chl

® Gravitational force / '{Rﬁﬂ'ﬂ' qc
(40)



Correct Answer :-Balanced force / Hgfera da

27)
Question Stimulus :-

The speed and direction of flow of horizontal winds near the surface of the
earth is not affected by: / 7 ¥ a8 & U &S garsi & g8 I i N7 =T 39P gRI
gyifad Te gl &:

® the pressure gradient force / QaTd YdUTdT d¢cl
® the frictional force /Yl'd:UT dc

® the Coriolis force / PIT3TTrT g

® the gravitational force / WITJFE‘:UT qa

Correct Answer :-the gravitational force / WIEE]:UT qd

28)
Question Stimulus :-

In a triangle, the line segment joining the mid-point of any side to the opposite vertex is called a / Th

oo #, fsedt off Yo ¥ aw-fig ot Tidia sufig A s Wy d@s sgamis
* Median / TR
* Bisector / fgHTST®
e Altitude / $=r3
* Centroid / &P

Correct Answer :-Median / 98

29)
Question Stimulus :-

If 820+x+y-610=342 and y=48 then x=? / afe 820+x+y-610=342 3R y=48 dd x=7?
* 84
e 58
e 38

e 48

(41)



Correct Answer :-84

30)
Question Stimulus :-

Directions for the following four questions: Study the graph below and answer
the questions. (Consider approximate values for answers) / AR Rt T IR vy & forw
Az R for T e 31 sremme B SR Ul BT IW S| (ST F Rrw agEia g ) fErR #Y)
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In which year the production of product X was lowest as compared to previous
year in terms of Rupees? / &3 7d § Tud & ugl & fisa i ot ga=1 & Idrg X &1 e
YAdH YUT?

®* 90
* 92
* 93
* 94

Correct Answer :-94
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